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8| T & Al FS A=A 27 131 107) 29| 14 9 8 0] 13 3 9 0 1 0 o0 429 2.33[ 3 110.750] 4
9| & AE MEZESK 12 63| 55 22 12 9 4 0 4 0 8 1 1 0 O 216 5.25 1 110.500] 2
10 | K& TEF HMEEZREK 19 92| 75 25 16/ 16 2 2| 12 11 10 0 1 0 o0 367 5.89 2 110.667] 3




RE4 : SIEEFRBEHRFERE R2ESEFERBARETAZ (VT MR—LER) BERTESR (fCEx65)

% - FHOER Pt E EHEH
=y % =| BT | e | x == | & | &

1] 10 6 0 1. 000 =) & U 1 15 13 4 6 5( 0 0 1 1 1 1 1 0| 6/0.308 O 1 1(0.400f 5
2 0 0 0 k) ] 3 11 8 4 5 0 1 0 1 1 2l 1 2 0 6{0.500] O 0 0{ 0.600] 4
3 1 1 0 1.000| kA& ZHF4E 4 1 1 1 1 0 0o 0 0 0 0 O O 0f 1(1.000] O 0/ 0] 1.000 1
4 0 0 0 EaR D 5 3 3 141 0 00 o o0 O 0 o0 0 O 0 1{0.333 ©0 0 11 0. 333 3
5 3 2 0 1.000| kA& &% 6 13 11 6 2 4 0 0 2/ 0 0 T 1 0| 8/0.545] O 0 0/0.615] 5
6 6 3 0| 1.000| £ [BE 1 10 5 21 4 2 1 0 4 0 1 0 2 0 6{0.400, O 0 0] 0. 667 5
1 of O 0 s HZE 8 5 3 1 2 3 0 1 1 o o 1 0 0 2(0.333 O 0/ 0]0.400[ 3
8 of 37 0 1.000|FK Kk 10 14 12| 5 4 20 0 0 2 0 o0 0 b5 0 7(0.417) 0 0 0{ 0.500] 5
9 of O 0 EH BRE 11 14 9 4 4 i1 0 0 20 3 1 11 6 0| 9(0.444] 0 0 3/0.643 5
10 0 0 0 EA IEF 12 2 2 0 O 00 o o0 O 0 1 0 © 0 0{0.000, O 0 0{ 0.000] 2
11 6 O 0] 1. 000| Bk Ta1E 16 0 0 of O 00 0 0 0 0 O 0 O 0| 0[{0.000] O 0/ 0]0.000[ 5
12 2 0 0 1.000( Fr# HRiD» 17 0 o 0o O 00 o o0 O 0 o0 0 O 0 0{0.000, O 0 0{ 0.000] 3
13 0 1 0 1.000|;E:2 BF 19 1 1M 1 2 0 0o 0 0 O O 1 0 0f 1(1.000] O 0/ 0] 1.000 2
14 1 27 1| 0. 966| #& 27 20 15 14, 8 3, 100 0 O 1 0 o 0 4 0 9{0.571] 0 2 0[ 0.600] 5
15 of O 0 Hp RE 21 0 0 of O 00 0 0 0 0 O 0 O 0| 0[{0.000] O 0/ 0]0.000 1
16 0 0 0 EHULIZ 22 2 2 0 O 00 o o0 O 0 o0 0 O 0 0{0.000 O 0 0{ 0.000] 3
17 of O 0 A8 HiE 24 14 11 3 1 1 0 o0 3 0 o0 2 3 0f 6(0.273] 0 0| 0/0.429 5
18 0 0 0 PN f 25 3 3 1 1 00 o o0 O 0 1 1 0 0 1{0.333 ©0 0 0] 0. 333 2
19 of O 0 SARTER 28 3 2 0 1 0 0 0 1 o 1 0 0 0| 1/0.000 O 0/ 0/0.333 3
20 0 1 0| 1.000| 4t #i~ 36 13 120 4 3 2 1 0 0 0 o 2 1 0 4{0.333 O0 0 0{0.333 4
290 78 1 0. 991 139 112) 45 39| 36 3 1| 18 5[ 8 11| 31 0| 68(0.402] O 3 50.500[ 5




RE4 : SIEEFRBEHRFERE R2ESEFERBARETAZ (VT MR—LER) BERTESR (fCEx65)

T8 - FHORE Rk B et
3 % =| = A = |z |s| g & = 2| &

1 2 5 0| 1.000|FE =H 1 15 130 71 7 7 0 O 2 0 1 1 2 0 9/0.538[ 2 1 11 0. 600 4
2 1 33 0 1.000(#53% HEiE 2 16 14 9 5 6 0 0 1 1 1 1 0 0 11]0.643] 1 1 11 0. 688 5
3 1 0 0] 1. 000| #n b3 %11 F 3 0 0 0o 2 0 0 O 0 0 0o 1 1 0| 0]0.000[ O 0 0] 0. 000 4
4 1 8 0 1.000|LLE ZE& 4 15 13 6 2 5 0 0 1 1 1 2 4 0 8/0.462| 1 1 0] 0.533 5
5 4 1 0| 1.000| F% %E= 5 120 11} 2| 2 2 1 0 0 0 o 3 3 0 2/0.182[ 0 0 0] 0.182 5
6 4 4 0 1.000/JII%f =EF 6 17 14 4 5 1 0 0 2 1 0 5 2 0 7(0.286] O 0 11 0.412 5
7 0 0 0 FE gk 8 0 0 0 1 0 0 O 0 0 0 O 1 0| 0]0.000[ O 0 0] 0. 000 3
8 0 2 0] 1.000| &R 3=# 9 16 120 3] 5 4 0 1 3 0 4 1 4 0 6[0.250[ 1 1 11 0. 375 5
9 3 M 0| 1.000|7EH E&ZE 10 16 16/ 9] 4 6 0 O 0 0 2 0 2 0 9/0.563[ 0 1 11 0. 563 5
10 3 0 0| 1.000|BTH IE " 0 0O 0o O 0 0 0 0 0 0 0 0 0 0/0.000] O 0 0| 0.000 5
11 0 1 0 1.000|#%HE 1 12 0 0 0o O 0 0 O 0 0 00 0 O 0| 0]0.000[ O 0 0] 0. 000 1
12 0 0 0 HKE ME 13 1 0O 0o O 0 0 0 1 0 0 0 0 0 1(0.000f O 0 0] 1.000 1
13 0 6 0 1.000{J1I%F BETH 14 12 8 1 1 0 2l 0 1 1 0 3 2 0 3]0.125 0 0 0] 0. 300 5
14 0 1 0| 1.000|{#iE RE2L 15 1 1 0 0 0 0 0 0 0 1 0 0 0 0/0.000] O 0 0| 0.000 4
15 0 0 0 M EFEF 16 1 11 0 O 0 0 O 0 0 00 0 O 0| 0j0.000[ O 0 0] 0. 000 1
16 0 0 0 e H 17 1 1 0 0 0 0 0 0 0 0 0 0 0 0/0.000] O 0 0| 0.000 1
17 0 0 0 AR #F 18 160 12| 5 5 1 1 0 3 0 4 0 4 0 8|0.417f 0 0 0] 0.533 5
18 0 0 0 WA M= 24 0 0 O 1 0 0 0 0 0 0 0 0 0 0/0.000] O 0 0| 0.000 1

191 72 g 1.000 139 116] 46/ 40, 32 4 11 14 4, 14 17] 25 0 64|0.397 5 5 5( 0. 474 5




RE4 : SIEEFRBEHRFERE R2ESEFERBARETAZ (VT MR—LER) BERTESR (fCEx65)

TR - FREOER AR 3 i BERER
e
= = i 3 = BT || B |

1 0 0 0 hE EK 1 4 4 0 0 0 0 0 0 0 1 0 0 0 0[{0.000{ O 0 0f 0. 000 4
2 0 0 0 i EIRTY 2 3 2 2 1 2 0 0 1 0 0 0 2 0 3(1.000 0 1 0| 1. 000 2
3 1 19 0f 1.000[hE 3 3 7 6 3 2 1 0 0 1 0 2 1 2 0 410.500( O 0 0 0.571 4
4 0 0 0 REHEBRF 5 2 200 1 0 0 0 0 0 0 0 0 0 0(0. 000 0 0 0| 0. 000 2
5 8 6 Of 1.000{F% % 6 14 100 6 7 3 0 0 4 0 0 2 4 0| 10(0.600] O 0 11 0. 714 4
6 1 0 Of 1.000({@E% #&fE 7 3 3 1 1 0 0 0 0 0 0 0 0 0 110. 333 0 0 0] 0. 333 4
7 4 6 Of 1.000(# =EHE 8 14 100 5 3 8 3 1 0 0 0 0 5 0 510. 500 1 1 2| 0. 455 4
8 0 1 Of 1.000| LB & 9 ) 7 1 0 0 0 0 0 0 1 0 1 0 110.143 0 1 0| 0. 143 4
9 2l 30 O 1. 000 TRk FIS 10 12 12 6 1 5 0 0 0 0 1 0 0 0 6/0.500[ O 2 2| 0.500 4
10 0 2 0 1. 000 &FiR& % 12 9 8 3 1 2 0 1 0 0 1 1 2 0 3(0. 375 0 1 0] 0. 333 4
11 1 1 0| 1.000| KART < EE 14 4 3 1 2 0 0 0 1 0 1 2 1 0 210.333 0 0 0f 0. 500 4
12 0 0 0 EXTE A 15 3 3 1 1 0 0 0 0 0 0 0 0 0 110. 333 0 0 0] 0. 333 2
13 0 0 0 L = 16 3 2l 0 1 0 0 0 1 0 2 1 1 0 1(0.000] 0 0 0f 0. 333 2
14 0 0 0 Bl #FE 17 1 11 1 1 2 0 0 0 0 0 0 0 0 111.000 0 0 0| 1. 000 3
15 3 3 0f 1.000(#Z {HAR 18 13 8 3 2 2 2 0 3 0 1 0 3 0 6/0.375( O 0 1] 0. 545 4
16 3 1 0 1.000{&H&ER LVE: 21 3 3 0 0 0 0 0 0 0 1 0 0 0 0(0. 000 0 0 0| 0.000 2
17 0 0 0 He FEE 22 10 8 3 0 1 0 1 1 0 0 0 3 0 410.375] 0 0 0f 0. 400 4
18 0 0 0 INERBE 23 0 0 O 1 0 0 0 0 0 0 0 0 0 0(0. 000 0 0 0| 0.000 1
19 0 0 0 HE E=E 26 0 0 0 2 0 0 0 0 0 0 0 0 0 0[{0.000[{ O 0 0f 0. 000 3
20 0 0 0 AL =% 29 0 0 O 0 0 0 0 0 0 0 0 0 0 0{0. 000 0 0 0| 0.000 2

23 69 (O 1. 000 112 92| 36| 27| 26 5 3 12 o 1 7 24 0| 48(0. 391 1 6 6| 0. 449 4




RE4 : SIEEFRBEHRFERE R2ESEFERBARETAZ (VT MR—LER) BERTESR (fCEx65)

% - FHOER Pt 3t .31
=y % =| BT | e | x == | & | &

1 0 6 0] 1. 000[/NEFFFE 1 120 1) 4 2 0 0 0 1 of 5 2 3 0| 5(0.364 O 1 0/ 0.417] 4
2 0 0 0 =i EBF 2 120 11 3 1 1 1 0 0 0 2l 3 b 0 3({0.273)] 0 0 110.273 4
3 of O 0 Hith B 3 3 3 0 O 00 0 0 0 0 3 0 O 0| 0[{0.000] O 0/ 0]0.000f 2
4 1 15 1 0.957|FEEH HEHR 4 11 100 21 1 0 1 0 0 0 3 0 1 0 2{0.2000 O 0 0{ 0.200] 4
5 8 10 0 1.000| HFHUV % 1= 5 130 120 5 2 2( 1 0 0 Of 1 2 3 0| 5(0.417) 0 0 110.417) 4
6 9 1 0 1.000|/7J1] HE#k 6 11 1 3 1 1 o0 0 O of 4/ 2 3 0 3({0.273)] 0 0 0{0.273] 4
1 of O 0 FRLAE 1 1 11 0 0 00 0 0 0 0 1 0 O 0| 0[{0.000] O 0/ 0]0.000 1
8 of 1 0] 1.000| /1N & 75 A 8 14 100 2 2 2 1 0 1 2 1 1 1 0 5{0.200, O 0 0{0.385 4
9 of O 0 Iif E¥ 9 1 11 0 0 00 0 0 0 o0 0 T 1 0| 0[{0.000] O 0/ 0]0.000 1
10 4 11 0| 1.000| 4k AR 10 11 100 3 1 1 0 O 1 of 4 0 O 0  4{0.300f 1 0 2/ 0.364f 4
11 0 2 0| 1.000{)II%F &3 11 120 10 21 2 1 o0 o0 2/ 0o 4 2/ 3 0 4/0.200 O 0 0[0.333 4
12 1 1 0| 1. 000 ILEFITHE 13 0 o 0o O 00 o o0 O 0 o0 0 O 0 0{0.000, O 0 0] 0.000 1
13 of O 0 N E 15 1 11 0 0 00 0 0 0 0 O 0 O 0| 0[{0.000] O 0/ 0]0.000 1
14 5 1 0| 1. 000 I % 17 0 o 0o O 00 o o0 O 0 o0 0 O 0 0{0.000 O 0 0{ 0.000] 4
15 2l 23 40.862HO &EF 20 100 10 1 1 2 0 0 O of 3 o0 1 0f 1(0.100] O 1 0/ 0.100] 4
36| 81 9 0.959 112 101} 25 13, 10, 4/ 0 5 2( 31 13 21 0] 32(0.248] 1 2 40.296] 4
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AR i E% By A R ,**?***L m | = & B " 1EIEE |
I | | K = B & T "R i ?r BROK| K| 2|2 % 2 = |57 0 7l % | &
1 1 33 0]1.000 #5178 i TEBRERER 16 14 9 5 6 0 0 1 1 1 1 0f 0 11]0.643 1 1 1/0. 688 5
2 8 6 0]1.000F% ¥E BERSK 14 100 6 7 3 O 0 4 0 0 2 4 0 10{0.600f O O 1)0.714f 4
3 1 27 1)0.966( %  ET EFaR 15/ 14 8 3 10 O 0 1 of o 0 4 0 9/0.5711 0 2| 0]0.600 5
4 3] 11| of1.000 EE &FEF TEXRERSK 16 16 9 4 6 0 0 0 0 2/ 0 2l 0 910.563 O 1 110. 563 5
9 3 0] 1. 000 A P53 EFaR 13 11 6 2| 4 0 0 2 0 0 1 7 0 8[0.545 O 0 0[0.615 5
9 2 0/ 1.000 HE =R TEXRERSK 15 13 1 1 7 0 0 2 0 1 1 2l 0 910.538 2 1 110.600[ 4
T 4 0] 1. 000 #& &3 BEXER 14 100 5 3 8 3 11 0 Of o0 O 5 0 5(0.500 1 1 2(0. 455 4
T 2| 30, 0f1.000| THEEERFIS BERSK 120 120 6 1 5( 0 0 o0 o0 1 0 0 0 6/0.5000 0| 2| 2/0.500 4
9 1 8 0[1.000 LLE 4 TEBRERESHR 15 13 6 2 5 0 0 1 1 1 2 4 0 8(0.462 1 1 0{0.533 5
10 0 0 o0 EH EHER 14 9 4 4 14 0 0 2 3 1 1 6 0 910.444 0 0] 3/0.643 5
11 0 0 0 K #F TEBRERER 16 12 5 5 1 1 0 3 of 4 O 4 0 8(0.417) 0 0 0[0.533 5
11 8] 100 0[1.000 EEHU 1= ML) S 13) 120 5 2 21 1 0 0 0o 1 2 3 0 5/0.417} 0| 0 1)0.4171 4
11 0 37 0/1.000 Fi& K%k EFaR 14 12 5 4 21 0 0 2 0 o0 O 5 0 710.417 0 0/ 0]0.500 5
14 3 3 0]1.000 FiF {HA BERSK 130 8 3 20 21 2 0 3 0 1 0 3 0 6/0.3750 0| 0] 1]0.545 4
15 0 6 01.000 N&FFFE i) ISR 12 11 4 20 0 O 0 1 of 5 2 3 0 5(0.364 O 1 0{0. 417 4
16 0 1 0]1.000 ##f #% EHFER 130 120 4 3 21 1 0 0 0 0 2 1 0| 4/0.333 04 0 0[{0.333 4
1 10 6 0[1.000 #JV&Y EFaR 150 13 4 6 5 0 0 1 1 1 1 11 0 6/0.308 0O 1 1]0. 400 5
18 4 4 0]1.000 ¥ XF TEXRERSK 17) 14 4 5 11 0 0 2 1 0] 5 2l 0 710.286f 0 0] 1/0.412 5
19 0 0 0 =it B ML) ISR 12 11} 3 1 1 1 0 O0 0 2 3 5 0 3[0.273 O 0 110.273 4
19 0 0 0 A8 SHix EHFER 14 11 3 1 11 0 0 3 0 0 2 3 0 6/0.273f 0 0] 0]0.429 5
21 0 2l 0[1.000&HE =i TEBRERER 16 12 3 5 4 0 1 3 of 4 1 4 0 6/0.250 1 1 110.375 5
22 0| 11f 0] 1.000 /NEEHTRH ML) S 14 100 2 2 21 1 0 1 2 1 1 11 0| 5/0.2000 04 0] 0[{0.385 4
22 0 2l 0]1.000 JIE 53 ML) ISR 12/ 100 2[ 2 1 0 0 2 0 4 2 3 0 4{0.2000 O 0 0[0.333 4
24 4 11 0/1.000 F% HE= TEXRERSK 120 11 2 20 21 1 0 0 o0 0 3 3 0 2/0.182 0| 0 0]0.182 5
29 0 6 0]1.000 )l &7 TEBRERER 12 8 1 1 0 2 0 1 1 0 3 2l 0 3[0.125 O 0/ 0]0.300 5
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18K &3 BATESR 25 107, 91 18 8 4 6 0 100 oOf 19 1} 20 0 Of 343 1.120 3 0[1.000f 3
2|/hFy A NBREER 13 57, 49 1 4 4 0 0 8 Of 13 1 1 0 0f 205 215 1 1/0.500 3
3| R—H Al JIBRER 3 13 120 1 1 1 0 0 1 0 3 0 11 0 0 42 2.33 1) 0[1.000 1
4 BatEmd BRXEIHEER 6 2/3 30 25 6 4 3 1 00 20 20 4 0 4 0 0 7113 3.15 0 10.000 2
SIHTAR A— BRXEIRZEER 6 1/3| 28 200 6 5 3 2 O 6 0 4 1 1 0 0 93 3.321 1] 0f1.000f 2
6|FEF A BRXEIHEER 1 4 3 0 0 of o0 0 1 00 2 0 0 0 O 14/ 0.00f 0 0{0.000 1
7iE& E FHEBIARER 5 36 17 5 11 9 0 1 18 O 3 O 9 0 0| 1641260 1 0[1.000 1
8lEE AW FRBMARER 4 26/ 200 10 10, 10| 1 0 5 0 1 T 1 0 0 T1{ 17.50] 0] 1{0.000 1
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13 0 6 0 1.000| 7% E2 21 14 14 2| 3 1 0 O 0 0 3 2 1 0 2/0.143( 0 0 11 0. 143 3
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